Lp-APPROXIMATION BY SPLINES

LÁSZLÓ SZÉKELYHIDI

Mathematisches Institut der Universität Bern Sidlerstrasse 5, CH – 3018 Bern, Schweiz

(Received May 2, 1985)

Abstract. In this paper a new spline interpolational method is presented in the L^p -space. For the construction of the approximating spline function integral meanvalues instead of function values have been used. The order of approximation — which is the best possible — is expressed by the L^p -modulus of continuity of the L^p -function to be approximated.

The approximation of differentiable functions and their derivatives by means of interpolating splines on equidistant subdivisions in the sense of L^p -metric $(1 \le p < \infty)$ has been considered by several authors (see e.g. [2], [3], [4], [5], [6]). The common nature of these methods is that on one side, they can be used either on a finite interval, or for periodic functions only, on the other hand, the functions to be approximated cannot be arbitrary in L^p , namely, function values and even differentiability properties are used. Here we present a spline interpolational method in $L^p(a, b)$, where (a, b) can be either finite, or the whole real line. For the construction of the approximating spline function we use integral mean values instead of function values, and the method gives the same order of approximation expressed by the L^p -modulus of continuity for any L^p -function, which is the best possible one (see [8]). Concerning the main ideas see [7], [9].

In what follows p is a fixed real number with $1 \le p < \infty$, and L^p denotes $L^p(a,b)$ for either (a,b) is a finite interval on the real line, or (a,b) is the whole real line. In the finite case all functions in L^p are supposed to be extended periodically to the whole line. For any integer $r \ge 0$ the space W_p consists of all r-times differentiable functions with an r-th derivative belonging to L^p . The L^p -modulus of continuity $\omega_r(f,h)_p$ for any f in L^p and $r \ge 0$ integer, is defined as usually (see e.g. [2], [3]).

For the estimations we shall make use of the following theorem, which is a modification of a theorem in [2] and can be proved similarly.

Theorem 1. Let Γ be an arbitrary set and $L_{\gamma}: L^p \to L^p$ for any γ in Γ , uniformly bounded linear operators, for which there exists a nonnegative function

3 ANNALES - Sectio Computatorica - Tomus VII.

a: $\Gamma \to \mathbb{R}$ such that $a(\gamma) \le 1$, further there exists an integer $r \ge 1$ and a constant c > 0 for which we have whenever f is in W_p^r

$$||L_{\gamma}(f) - f||_{p} \le c \cdot a(\gamma) ||f^{(r)}||_{p}.$$

Then there exists a constant d>0 such that for all f in L^p we have

$$||L\gamma(f)-f||_p \leq d \cdot \omega_r (f,a(\gamma)^{\frac{1}{r}})_p.$$

Proof. To prove this theorem we use the following result: if f belongs to L^p , h>0 and $r\geq 1$ is an integer, then there exist constants c_r , d_r and a function $f_{r,h}$ in W_p^r such that

$$||f-f_{r,h}||_{p} \leq c_{r} \cdot \omega_{r}(f,h)_{p}$$

and

$$||f_{r,h}^{(i)}||_p \le d_r \cdot h^{-i} \cdot \omega_r(fh)_p \ (i = 1, 2, \ldots, r).$$

The proof of this theorem can be found in [4] under the assumption that f is bounded, but it is easy to see, that the construction in [4] — which depends on the use of the modified Steklov-transform — works well even if f is unbounded (see also [6]). We note that we shall use this result only in the case r = 2, i = 2 for which the corresponding statement can be found also in [1].

Let
$$h = a(\gamma)^{\frac{1}{r}}$$
, then $h \ge a(\gamma)$ and we have
$$\|L_{\gamma}(f) - f\|_{p} \le \|L_{\gamma}(f) - L_{\gamma}(f_{r,h})\|_{p} + \|L_{\gamma}(f_{r,h}) - f_{r,h}\|_{p} + \|f_{r,h} - f_{r,h}\|_{p} + c \cdot a(\gamma)\|f_{r,h}^{(r)}\|_{p} + \|f_{r,h} - f\|_{p} \le (K+1)\|f - f_{r,h}\|_{p} + c \cdot a(\gamma) \cdot d_{r} \cdot h^{-r} \cdot \omega_{r}(f,h)_{p} \le [(K+1)c_{r} + c \cdot d_{r}] \cdot \omega_{r}(f,a(\gamma)^{\frac{1}{r}})_{p},$$

where K is a common bound for the operators L_{γ} . Hence the theorem is proved. \square

Let h>0 and $\{t_k\}$ be a subdivision of (a,b) with $t_{k+1}-t_k=h$. In the finite case we suppose that the number of t_k 's is finite, and in all cases $(a,b)=\bigcup_k [t_k, t_{k+1}]$.

For all x in L^p we define

$$y_k = \frac{1}{h} \int_{t_k - \frac{h}{2}}^{t_k + \frac{h}{2}} x(t) dt$$

and

$$S_h(x)(t) = y_k + \frac{1}{h} \Delta y_k \cdot (t - t_k) - \frac{1}{h^2} \Delta^2 y_k [(t - t_k)^2 - \frac{1}{h} (t - t_k)^3],$$

whenever t is in $[t_k, t_{k+1}]$, where the operator Δ has the usual meaning

$$\Delta y_k = y_{k+1} - y_k, \ \Delta^2 y_k = y_{k+2} - 2y_{k+1} + y_k.$$

Obviously $S_h(x)$ is continuously differentiable and $S_h(x) = x$ whenever x is linear.

Theorem 2. For all x in L^p we have

$$||S_h(x)-x||_p \leq \text{const } \cdot \omega_2(x,h)_p.$$

Proof. The proof of this theorem depends on Theorem 1. Obviously, the operator $x \rightarrow S_h(x)$ is linear. On the other hand,

$$||S_h(x)||_p \le ||A_h(x)||_p + ||B_h(x)||_p + ||C_h(x)||_p + ||D_h(x)||_p,$$

where

$$A_h(x)(t) = y_k,$$

$$B_h(x)(t) = \frac{1}{h} \Delta y_k \cdot (t - t_k),$$

$$C_h(x)(t) = -\frac{1}{h^2} \Delta^2 y_k \cdot (t - t_k)^2,$$

$$D_h(x)(t) = \frac{1}{h^3} \Delta^2 y_k (t - t_k)^3$$

for all t in $[t_k, t_{k+1}]$. In the estimations which follow we shall use the Hölder-, and Minkowskiinequalities several times, as stated in [1]. We have

$$\begin{aligned} \|A_{h}(x)\|_{p} &= \left[\sum_{k}^{t} \int_{t_{k}}^{t_{k+1}} |y_{k}|^{p} dt\right]^{1/p} = \left[\sum_{k}^{t} h|y_{k}|^{p}\right]^{1/p} = \\ &= \left[h \sum_{k} \left|\frac{1}{h} \int_{t_{k-\frac{h}{2}}}^{t_{k+\frac{h}{2}}} x(t) dt\right|^{p}\right]^{1/p} = \left[\frac{1}{h^{p-1}} \sum_{k} \left|\int_{t_{k-\frac{h}{2}}}^{t_{k+\frac{h}{2}}} x(t) dt\right|^{p}\right]^{1/p} \le \\ &\le \left[\frac{1}{h^{p-1}} \sum_{k} \int_{t_{k-\frac{h}{2}}}^{t_{k+\frac{h}{2}}} |x(t)|^{p} dt \cdot h^{p-1}\right]^{1/p} = \|x\|_{p}; \\ \|B_{h}(x)\|_{p} &= \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} \left|\frac{1}{h} \Delta y_{k}(t-t_{k})\right|^{p} dt\right]^{1/p} = \\ &= \left[\frac{h^{p+1}}{h^{p}(p+1)} \sum_{k} |\Delta y_{k}|^{p}\right]^{1/p} = \left[\frac{h}{p+1} \sum_{k} \left|\frac{1}{h} \int_{t_{k+1-\frac{h}{2}}}^{t_{k+1-\frac{h}{2}}} x(t) dt - \right] \end{aligned}$$

$$-\frac{1}{h}\int_{t_{k}-\frac{h}{2}}^{t_{k}+\frac{h}{2}}x(t) dt \Big|^{p}\Big]^{1/2} = \left[\frac{1}{(p+1)h^{p-1}} \sum_{k} \left| \int_{t_{k}-\frac{h}{2}}^{t_{k}+\frac{h}{2}} [x(t+h)-x(t)] dt \right|^{p}\Big]^{1/p} \le$$

$$\leq \left[\frac{1}{(p+1)h^{p-1}} \sum_{k} \int_{t_{k}-\frac{h}{2}}^{t_{k}+\frac{h}{2}} |x(t+h)-x(t)|^{p} dt \cdot h^{p-1}\right]^{1/p} \le 2 \cdot ||x||_{p};$$

$$||C_{h}(x)||_{p} = \left[\sum_{k} \int_{t_{k}}^{t_{k}+1} \left| \frac{1}{h^{2}} \Delta^{2} y_{k}(t-t_{k})^{2} \right|^{p} dt \right]^{1/p} =$$

$$= \left[\frac{h^{2p+1}}{h^{2p}(2p+1)} \sum_{k} |\Delta^{2} y_{k}|^{p}\right]^{1/p} = \left[\frac{h}{2p+1} \sum_{k} |\Delta y_{k+1} - \Delta y_{k}|^{p}\right]^{1/p} \le$$

$$\leq \left[\frac{2^{p-1}h}{2p+1} \sum_{k} (|\Delta y_{k+1}|^{p} + |\Delta y_{k}|^{p})\right]^{1/p} \le \left(\frac{2^{p-1}}{2p+1}\right)^{1/p} \cdot 2^{\frac{p+1}{p}} \cdot ||x||_{p} \le 4 \cdot ||x||_{p};$$

and finally

$$\begin{split} \|D_{h}(x)\|_{p} &= \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} \left| \frac{1}{h^{3}} \Delta^{2} y_{k} (t - t_{k})^{3} \right|^{p} dt \right]^{1/p} = \\ &= \left[\frac{h^{3p+1}}{h^{3p} (3p+1)} \sum_{k} |\Delta y_{k+1} - \Delta y_{k}|^{p} \right]^{1/p} \leq \\ &\leq \left[\frac{2^{p-1}}{3p+1} \right]^{1/p} [h \sum_{k} |\Delta y_{k+1}|^{p} + |\Delta y_{k}|^{p}]^{1/p} \leq 4 \cdot \|x\|_{p}; \end{split}$$

and hence $||S_h(x)||_p \le 11 \cdot ||x||_p$, that is, the operators S_h are uniformly bounded. Now let $x \in W_p^2$. By the Taylor-formula we have

$$x(t) = y(t) + z(t) + w(t),$$

where

$$y(t) = x(t_k)$$

$$z(t) = x'(t_k)(t - t_k)$$

$$w(t) = \int_{t_k}^{t} (t - \xi) \cdot x''(\xi) d(\xi),$$

whenever t is in $[t_k, t_{k+1}]$. Hence

$$||S_h(x) - x||_p \le ||A_h(x) - y||_p + ||B_h(x) - z||_p + ||w||_p + ||C_h(x)||_p + ||D_h(x)||_p.$$

Further, we obtain

$$\begin{split} &\|w\|_{p} = \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} \left| \int_{t_{k}}^{t} (t-\xi) \cdot x''(\xi) d\xi \right|^{p} dt \right]^{1/p} \leq \\ &\leq \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} \left| \int_{t_{k}}^{t_{k+1}} |t-\xi| \left| x''(\xi) \right| d\xi \right|^{p} dt \right]^{1/p} \leq \\ &\leq h \left[\sum_{k} h \left[\int_{t_{k}}^{t_{k+1}} |x''(\xi)|^{p} d\xi \cdot h^{p-1} \right] \right]^{1/p} = h^{2} \|x''\|_{p}. \end{split}$$

On the other hand,

$$||C_h(x)||_p = \left[\sum_k \int_{t_k}^{t_{k+1}} \left| \frac{1}{h^2} \Delta^2 y_k \right|^p (t - t_k)^{2p} dt \right]^{1/p} =$$

$$= \left(\frac{h^{2p+1}}{2p+1}\right)^{1/p} \left[\sum_k \left| \frac{1}{h^2} \Delta^2 y_k \right|^p \right]^{1/p}.$$

But we have

$$\begin{split} \sum_{k} \left| \frac{1}{h^{2}} \Delta^{2} y_{k} \right|^{p} &= \sum_{k} \left| \frac{1}{h} \left(\frac{x_{h}(t_{k+2}) - x_{h}(t_{k+1})}{h} - \frac{x_{h}(t_{k+1}) - x_{h}(t_{k})}{h} \right) \right|^{p} = \\ &= \sum_{k} \left| \frac{x'_{h}(\xi_{k+1}) - x'_{h}(\xi_{k})}{h} \right|^{p} = \sum_{k} \left| \frac{1}{h} \int_{\xi_{k}}^{\xi_{k+1}} x''_{h}(\xi) d(\xi) \right|^{p} \leq \\ &\leq \frac{1}{h^{p}} \sum_{k} \left[\int_{t_{k}}^{t_{k+2}} |x''_{h}(\xi)| d\xi \right]^{p} \leq \frac{1}{h^{p}} \sum_{k} \int_{t_{k}}^{t_{k+2}} |x''_{h}(\xi)|^{p} d\xi \cdot 2^{p-1} \cdot h^{p-1} = \\ &= \frac{2^{p}}{h} \|x''_{h}\|_{p}^{p}, \end{split}$$

where we used the notation

$$x_h(t) = \frac{1}{h} \int_{t-\frac{h}{2}}^{t+\frac{h}{2}} x(s) ds,$$

and the fact, that

$$x_h(t) = \frac{1}{h} \left[x \left(t + \frac{h}{2} \right) - x \left(t - \frac{h}{2} \right) \right].$$

Now observe, that

$$\begin{aligned} \|x_h''\|_p &= \left[\int |x_h''(t)|^p \, dt \right]^{1/p} = \left[\int \left| \frac{1}{h} x' \left(t + \frac{h}{2} \right) - \frac{1}{h} x' \left(t - \frac{h}{2} \right) \right|^p \, dt \right]^{1/p} = \\ &= \frac{1}{h} \left[\int |x'(t+h) - x'(t)| \, dt \, \right]^{1/p} = \frac{1}{h} \left[\int \left| \int_t^{t+h} x''(\xi) \, d\xi \right|^p \, dt \right]^{1/p} \le \\ &\leq \frac{1}{h} \left[\sum_k \int_t^{t_{k+1}} \left[\int_t^{t+h} |x''(\xi)| \, d\xi \right]^p \, dt \right]^{1/p} \le \frac{1}{h} \left[\sum_k \int_t^{t_{k+1}} \left[\int_t^{t_{k+2}} |x''(\xi)| \, d\xi \right]^p \, dt \right]^{1/p} \le \\ &\leq \frac{1}{h} \left[h \sum_k \int_t^{t_{k+2}} |x''(\xi)|^p \, d\xi \cdot 2^{p-1} \cdot h^{p-1} \right]^{1/p} = 2 \|x''\|_p. \end{aligned}$$

Hence we have

$$\|C_h(x)\|_p \leq \left(\frac{h^{2p+1}}{2p+1}\right)^{1/p} \cdot \frac{2}{h^{1/p}} \cdot 2 \cdot \|x''\|_p = \frac{4}{(2p+1)^{1/p}} \cdot h^2 \cdot \|x''\|_p.$$

Similarly we get

$$||D_h(x)||_p \le \frac{4}{(3p+1)^{1/p}} \cdot h^2 \cdot ||x''||_p.$$

To estimate $||A_h(x)-y||_p$ we notice, that by the Taylor-formula we have

$$x(s) = x(t_k) + x'(t_k)(s - t_k) + \int_{t_k}^{s} (s - \xi)x''(\xi) d\xi$$

for all s in $[t_k, t_{k+1}]$. It follows

$$y_k = \frac{1}{h} \int_{t_k - \frac{h}{2}}^{t_k + \frac{h}{2}} x(s) \, ds = \frac{1}{h} \int_{t_k - \frac{h}{2}}^{t_k + \frac{h}{2}} \int_{t_k}^{s} (s - \xi) x''(\xi) \, d\xi \, ds + x(t_k),$$

and then we obtain

$$||A_{h}(x) - y||_{p} = \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} |y_{k} - x(t_{k})|^{p} dt \right]^{1/p} =$$

$$= \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} \left| \frac{1}{h} \int_{t_{k} - \frac{h}{2}}^{t_{k}} \int_{t_{k}}^{s} (s - \xi) x''(\xi) d\xi ds \right|^{p} dt \right]^{1/p} \le$$

$$\leq \left[h \sum_{k} \left[\int_{t_{k}-1}^{t_{k+1}} \int_{t_{k}-\frac{h}{2}}^{t_{k+\frac{h}{2}}} |x''(\xi)| d\xi ds \right]^{p} \right]^{1/p} = \\
= \left[h \sum_{k} h^{p} \left[\int_{t_{k}}^{t_{k+1}} |x''(\xi)| d\xi \right]^{p} \right]^{1/p} \leq \left[h \sum_{k} h^{p} \int_{t_{k}}^{t_{k+1}} |x''(\xi)|^{p} d\xi \cdot h^{p-1} \right]^{1/p} = \\
= h^{2} ||x''||_{p}.$$

Finally, to estimate $||B_h(x)-z||_p$ we use the identity

$$\frac{1}{h} \Delta y_k - x'(t_k) = \frac{x_h(t_k + h) - x_h(t_k)}{h} - x'(t_k) =$$

$$= x'_h(\xi_k) - x'(t_k) = \frac{1}{h} \left[x \left(\xi_k + \frac{h}{2} \right) - x \left(\xi_k - \frac{h}{2} \right) \right] - x'(t_k) =$$

$$= x'(\eta_k) - x'(t_k) = \int_{t_k}^{\eta_k} x''(\xi) \, d\xi,$$

where ξ_k is in $[t_k, t_k+h]$ and η_k is in $\left[\xi_k-\frac{h}{2}, \xi_k+\frac{h}{2}\right]$, hence η_k is in $\left[t_k-\frac{h}{2}, t_k+\frac{3h}{2}\right]$. This yields

$$||B_{h}(x) - z||_{p} = \left[\sum_{k} \int_{t_{k}}^{t_{k+1}} \left| \frac{1}{h} \Delta y_{k} - x'(t_{k}) \right|^{p} (t - t_{k})^{p} dt \right]^{1/p} \le$$

$$\le \left[\frac{h^{p+1}}{p+1} \sum_{k} \int_{t_{k}}^{t_{k+2}} |x''(\xi)|^{p} d\xi \cdot 2^{p-1} \cdot h^{p-1} \right]^{1/p} = \frac{2}{(p+1)^{1/p}} \cdot h^{2} \cdot ||x''||_{p}.$$

Summarizing our results, we have

$$||S_h(x) - x||_p \le C \cdot h^2 \cdot ||x''||_p$$

where the constant C depends only on p. Now, our theorem is a consequence of Theorem 1. \square

REFERENCES

- [1] Ahijezer N. I.: Lectures on Approximation Theory, Akadémiai Kiadó, Budapest, 1951 (in Hungarian).
- [2] Andreev A. and Popov V. A.: Approximation of functions by means of linear summation opeartors in L_p . In: Functions, Series, Operators (Edited by B. Sz. Nagy and J. Szabados). Budapest, 1980, 127 150.

- [3] Andreev A.: Interpolation by quadratic and cubic splines in L_p . In: Constructive Function Theory '81 (Sofia 1983), 211-216.
- [4] Brudnij Ju. A.: Approximation of functions of n variables by quasi-polynomials, Izv. Akad. Nauk USSR, Ser. Mat. 34 (1970), 564-583 (in Russian).
 [5] Fawzy Th.: L²-approximation by splines. Annales Univ. Sci. Budapest., Sectio Math. 26 (1983), 27-31.
- [6] Freud G. and Popov V. A.: Some questions concerning polynomial and spline approximation. Studia Sci. Math. Hung. 5 (1970), 161 171 (in Russian).
- [7] Lénárd M. and Székelyhidi L.: Functional differential equations by spline functions, Annales Univ. Sci. Budapest., Sectio Computatorica 3 (1982), 25-32.
 [8] Steckin S. B. and Subbotin Ju. A.: Splines in Numerical Mathematics, Nauka, Moscow,
- 1976 (in Russian).
- [9] Székelyhidi L.: L^p-approximation by splines. In: Constructive Theory of Functions '84 (Sofia, 1984), 835 839.